SH2EE KBXRZFIZBITH A4 8—2Y

B - ST B = B [ N =
9:30~10:00 | [AVZTVvF—v 3] - BEHBT
8A248(A) ————
(1RE] |22HHO8ET [1000~1100 | (M%) K OEE, HHAEORNK L RE
[ B K2 ]
AT — 2 D CHEE) AWM T—2 2 FRALEEROER
FERAERELCE [11:00~1600( (1) T—2DAFE, DPWERET S TOERAEDEE
AFNLT YT (2) DHEHOIER
8A25R(%) [ PEEIORET | 9:00~1000 | [#3] #it 0 5 REKERIZONT
[2HE]
(B AS] | AMBEHT—2 0 UHRE] AT — 2 2EA LEEHOER
FIEREBLCE [10.00~1600] (2) DREBROER (0DF)
AFNT YT (3) PEEE
88 278(XK)
(3EE] NHBETT—2 D 3 JNPhdREL = R . o5y N
FEALEELE 9:00~16:00 [EE] AE’J%}EI{I—T g E/ﬁﬁﬁ Lf.ﬁ*—l—@'f"Fﬁi
IEXE] | sires | ' (4) HIFEHDER
) 9:30~10:15 | [EB&E] AFEORKE. AKEME., BEOTEMERICONT
8A28A(®) | fhng
(4B8H] 10:30~11:30 | [2F] #hzHEHE L OERRHE
[IBFF]
= LNFF S [;ﬁg]
TR | 1330~1530| - F— AN ORE

RR-ERYERY

A VA—= Yy TREDERYRY

w EE oI L




